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[J public static void main(String ss[]) {
CtxUtil.getBaseManager().getHibernateTemplate().execute(new
HibernateCallback() { public Object doInHibernate(Session
session) throws HibernateException, SQLEXxception { // I [ stul
Student stul = new Student(). stul.setName("aaaa").// 0 J [0 [

[ ,namel] O O O O O null session.save(stul). session.flush().//]
Jododobooooosou"oood

[ flush(),HibernateTemplatel] session] O 0 O 0O O 0O OO O O
Student stu2 = new Student(). session.save(stu2).// 1 [0 I (1 name
DO000000dodn session.flush(). returnnull. } ).} 0 O

[ springl] O O O executeld 0 O O O O O sessiond U OO 0O O O
JO00o0ooooddspringd 0000000000000
Hibernate[1 [ I [0 O [ session.beginTransation] (1 [J 00 [ 00 [
OO00000020 0 public Transaction beginTransaction()
throws HibernateException { errorlfClosed(). if ( rootSession != null
) {// todo : should seriously consider not allowing a txn to begin
from a child session // can always route the request to the root
session log.warn( "Transaction started on non-root session" ). }
Transaction result = getTransaction(). result.begin(). return result. }



000000 resulttd O

[1 org.hibernate.transaction.JDBCTransaction] [J [ [0 O [0 [

[1 getTransactionJ [ [J [0 OJ 00 OO 00 OJ 300 O public Transaction
getTransaction() throws HibernateException { if
(hibernateTransaction==null) {
log.error(owner.getFactory().getSettings()
.getTransactionFactory().getClass()). hibernateTransaction =
owner.getFactory().getSettings() .getTransactionFactory()

.create Transaction( this, owner ). } return hibernateTransaction. } [
[ O O O owner.getFactoryl] [ I getSettings(] [
.getTransactionFactory[] [ [J createTransaction] [ I O O O [
[ 0O 040 0O public Transaction createTransaction(JDBCContext
jdbcContext, Context transactionContext) throws
HibernateException { return new JDBCTransaction( jdbcContext,
transactionContext ). } O U O O O O JDBCTransaction] [ [ [
D000 000200000 result.beginC OO0 OO OO

1 JDBCTransactionld O U begind U O OO0 OO OS50 0
public void begin() throws HibernateException { if (begun) { return.
} if (commitFailed) { throw new TransactionException("cannot
re-start transaction after failed commit"). } log.debug("begin"). try {
toggleAutoCommit = jdbcContext.connection().getAutoCommit().
If (log.isDebugEnabled()) { log.debug("current autocommit status: "
toggleAutoCommit). } if (toggleAutoCommit) {
log.debug("disabling autocommit").
jdbcContext.connection().setAutoCommit(false).//00 O 0O O O [
[1 [0 false } } catch (SQLEXxception e) { log.error("JDBC begin



failed", e). throw new TransactionException("JDBC begin failed: ",
e). } callback = jdbcContext.registerCallbacklfNecessary(). begun =
true. committed = false. rolledBack = false. if (timeout &gt. 0) {
jdbcContext.getConnectionManager().getBatcher().setTransaction
Timeout(timeout). } jdbcContext.after TransactionBegin(this). }
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